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2. (GFEC page 32, #6. Determine of M is the midpoint of OP, then write a 2 column proof shovs{ing your determination.)
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CA= RD
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Honors Geometry PRACTICE TEST 1

Date:

Name:

True-False. Clearly indicate whether each statement is true or false.
1. Points that do not lie on the same line are called noncollinear.
2. Right angles may be assumed from a diagram.
3. Relative segment sizes may not be assumed from a diagram.
4. A right angle has no supplement.
I 5 An equilateral triangle is also isosceles.
| 6. The legs of a right triangle compose its right angle.
Answer each statement with Always (A), Sometimes (S), or Never (N)
7. If segments are congruent, their lengths are equal.
8. The three sides of an equilateral triangle are the same length.
/A 9. An obtuse angle has a supplem%nt, but not a complement.
/A 10. Congruent angles have the same measure.

M| 11. A scalene triangle may have two congruent sides.

/A 12.The legs of an isosceles triangle are congruent.

13. A 608-cm steel rod is cut into two sections having a ratio of 34: 42. Find the resulting length of

each section:

Section 1: 7277

Section 2: h) Olo Ci

My : U2 x
OB ~—
(08 e




. Degrees-Minutes-Seconds (D-M-S).

: 1 O - i = ';
a.) Convert 36 116 ° to D-M-S: a) O~ 2. 15
b.) Convert 37° 50" to degrees: b.) 57 ,1 ’
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15. If mz ABC = 90° and mz DBC = 35° 12' 42",
find mz ABD:
me ABD= O Wt g
$a° oAQ g (QD({ B
Qo (2 H2 \
oD Sl =%
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= 4() u'] [ l\Z\ {
B C
16. If mz ABC = 180° and mz ABD = 152° 37" 29",
find mz DBC: -
meDBC=___ 1% 22'
\1a° 59" ol D
-
B A U
et
20 Lt [2]
A C
17. £ A is acute, give the following:
a.) Restrictions onmz A: O & A 290
b.) Restrictions on x: 44 X234 (3x-12°)

L 2x-12 290

12°L 2% 2 102° — WLy s>y’
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18. If mz ABC = 90°ﬁndxaswellasm41andmL2: A
x=_1518°= 3°7' 3p" X-8+ Tx-1=90

mz 1=5K°- 5° 7' 30" Bx-15=90

me 2 =g8ulg2 BY° 52! 2! ;;\, 05

B

qo°-m &\ LQE‘

(x-8)°

D

(7x-7)°

B> & Lo!

o 7l I\ o S
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19. Find X as well as mz 1 and mz 2:
X = ‘20 0 |_]r>
mzl = (122 L1o(12) - '7] =|2o- (10x —7)°

1

/
5

($)®)-30"
D

(7x - 17)°

ms 2= G1°

IO 1 +1x-\72 150 A

| Ix - 2L - 18

\w=2zoy x<\2
20. £ ABC is aright angle. If m 2 1 and mz 2
are in aratio of 7 : 8, find x as well asmz 1 and
ms 2:
X = Lo o
msz 1= 2
vmz2=  X°

B

21.Ifms 1 and m< 2 are in a ratio of 5: 7, find x
aswellasmgl and m £2:

X= ®)
mz1= \ OSY
ms2= 15°




2. The length and width of a rectangle are integer values. If
the length of the figure is five less than double the width, and
if its perimeter is 536 mm, find the dimensions of the polygon.
Dimensions of rectangle ABCD: ' =4 rnm L= Tlmm

£X ;’ AN ) ?/\g‘\f = 5?)bmm
A A W -5 B
L*\;\’ O 4 oM
W
(.0\/\} - ;)Lg"(_@? nrrt
W= &l 5 |
| =\ mm

23.. The side lengths of an isosceles triangle are integer value. If the legs of the triangle are three units
longer than its base and if the perimeter of the polygon is 339 ¢cm, find the dimensions of the figure.

Dimensions of ABC: Legs: = |19 0 B 7

Base: ||\ tm st/ \)H '

[\
253=DX+ b X
,‘t\"“,.,':/x, ”“ L \\ \ = K
24. Given the diagram as shown, with PQ = x? + 6, QR =2 + 5x, and PR = 22 cm, find X, PQ, and QR:
X s PQ: 1O e QR: \Z. e
/i | 7 K5\
. e o
P :
(XD D= O X=¢€

25. If an angle measure is decreased by double its complement, the result is forty less than its
supplement. Find the measure of the angle, its complement, and its supplement.

Angle: 3o° Complement: | )" Supplement: | O0°
X - 2(A0-X) = 1§0-X -4
2% = (L X
2, \A o ¥
L= D2




». Which of the following is true for the figure?

E a. PO=0Q
’ b. RO=0Q
Scm c. OP=0R
P O

~Q
s (d)RO = 0S

-

2. f-3p36=_(12-H249) = (- Dr+B)r-o

27. 2+36a—117= (0 +?4) (0->)

el e - o ; = —1 i 1 ,—,\"a 1\ | ) B
78. 605a2—98022= oL121a%2 ~\ 90 29 = 5CHa 4 &~ ("\O\ ¥ '*lhv—)

20. @-25c+144=_ (¢ -4)(C-((y)

30. m>—4m-32=_(m + 4)Um ‘%\

31. The sum of the supplement and the complement of an angle is 130 degrees. Find the measure of the

amgle. \RO-{ 4 AO™-X = |

O
21

0 A . :' {'O
VO —7 A=
(5
- AT"H |
____— \
\ ¢ = P2 |
L=

32. The midpoint of a segment‘ is (3, 6). If one endpoint is (4, 7), what is the other endpoint?
mid poin ) lo ! End po‘\rﬂ’ Y 1

. g -3 =
- ond point "X_ i - mid Qo\(ﬁ’ T ,((Q
distance | ‘ distance
x=2 y=5 f




5. Five friends are Standing in a circle. How many different line segments ¢ be d that "
two friends? /\\ an be drawn that connec
‘%“’b\'\\'\ / ﬁ\‘ \\\ i F‘\,‘ YO 10N ,I‘

et oM e* AT
\
~

34. Sydney’s senior picture package includes several sizes of portraits. The smallest photo is a 1.5-inch
wide and 2-inch tall rectangle. The largest photo is 12 inches wide and is similar to the smallest photo.

How tall is the largest photo? | |, i X 12 |.5x% =24
i \& P =
| | ¥ CEhES e
—
1.5

’I \ ! E/ g y‘x
= g o L L
) 12
35. The rectangle below is made up of 12 congruent (same size) squares. Find the perimeter of the
rectangle if the area of the rectangle is equal to 432 square (m o R \ J, cm.
2y ) = LB em?
\ \ )’ =
M Po2L x2W ;
— ) ) ~ I 1o\
{ C X© ROoCCm* = ;LéZ_LW ?.-.L('),U
e 8ucem|
L/ L,I-'? A e
L=Udx= 24Tm W = "5Y &C
36. Find the area of the given shape.
20 cm — E o Y
5 g : :
D 10 cm SOCmx LM g
LN |\ ~ - o 2
15 2 e T f iy S O C M-
’ om | 1eum g 29 x letm g 4
5,\:“\ ;/ h [ 9 ’7,«“\ Cm C

Scm




,0nus -

The shaded region below is the common area to four semicircles whose diameters are the sides of the
square with side length 4x. Find the area of the shaded region in terms of x.

2%
N/, Areact S%Mart’- - 3}' area of cirde

4 = (&) m)H?)

z

= Uye_ A1 ¢

P{uAT) & you have & o+
+hese

G Mfﬁ) ik you use 3,14 v

; {\a

Theorem: ‘
a cat has nine tails. .

G 2/u_2 \4
Proof: : %)( ( H-3. )
No cat has eight tails. A g
= 2

cat has one tail more 8X ( o 8l0>

than no cat

therefore, acathas \ =3 .@8 X2 ‘
nine tails.




